EXAMPLES (Reference Para 15 to PCDA(P) Circular No.164

dated29/05/2017)

Sl. No.	DESCRIPTION	CASE -1	REMARKS
1.	DATE OF RETIREMENT	31.12.1984	
2.	Scale of Pay(or Pay Band & G.P.) at the time of retirement	975-1660 (4 th CPC Scale)	
	OR Notional pay scale as on 1.1.1986 for those retired before 1.1.186		
3.	Pay(or Pay Band & G.P.) at the time of retirement OR Notional pay as on 1.1.1986 for those retired before 1.1.186	1210	As per Table -10 of RPR 1986
4.	PENSION AS ON 1.1.2016 BEFORE REVISION	4191	Consolidated as on 1.1.96 and 01.01.2006
5.	FAMILY PENSION AS ON 01.01.2016 BEFORE REVISION	3500	Consolidated FP as on 1.1.96 & 1.1.2006
6.	FAMILY PENSION AT ENHANCED RATE AS ON 01.01.2016 BEFORE REVISION (IF APPLICABLE)	NA	NA at present
7.	REVISED PENSION BY MULTIPLYIN PRE- REVISED PENSION BY 2.57	10771	4191*2.57=10771
8.	REVISED FAMILY PENSION BY MULTIPLYIN PRE-REVISED FAMILY PENSION BY 2.57	9000	Minimum Family Pension
9.	REVISED FAMILY PENSION AT ENHANCED RATE BY MULTIPLYIN PRE-REVISED FAMILY PENSION BY 2.57	NA	NA at present
10.	PAY FIXED ON NOTIONAL BASIS ON 1.1.1996	3710 (3200-4900)	Table S/6 of RPR -1997
11.	PAY FIXED ON NOTIONAL BASIS ON 01.01.2006	8910 (PB-1, GP 2000)	Table S/6 of RPR -2008
12.	PAY FIXED ON NOTIONAL BASIS ON 01.01.2016	23100(Level-3) Sl. No. 3	As per Pay Matrix of RPR -2016
13.	REVISED PENSION W.E.F. 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	11550	50% of 23100
14.	REVISED FAMILY PENSION W.E.F 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	9000	Minimum Family Pension
15.	REVISED FAMILY PENSION AT ENHANCED RATE W.E.F 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	NA	NA at present
16.	REVISED PENSION PAYABLE(HIGHER OF S. NO. 07 AND 13)	11550	As on 01.01.2016
17.	REVISED FAMILY PENSION PAYABLE(HIGHER OF S. NO. 08 AND 14)	9000	As on 01.01.2016
18.	REVISED FAMILY PENSION AT ENHANCED RATE PAYABLE(HIGHER OF S. NO. 09 AND 15)	NA	NA at present

EXAMPLES (Reference Para 15 to PCDA(P) Circular No.164

dated29/05/2017)

Sl. No.	DESCRIPTION	CASE-2	REMARKS
1.	DATE OF RETIREMENT	31.01.1989	
2.	Scale of Pay(or Pay Band & G.P.) at the time	3000-4500	
	of retirement	(4 th CPC Scale)	
	<u>OR</u>		
	Notional pay scale as on 1.1.1986 for those		
	retired before 1.1.186		
3.	Pay(or Pay Band & G.P.) at the time of	4000	Last Pay Drawn
	retirement		
	<u>OR</u>		
	Notional pay as on 1.1.1986 for those retired		
	before 1.1.186	12600	A
4.	PENSION AS ON 1.1.2016 BEFORE REVISION	12600	As per Concordance table of GOI, DP&PW
	FANALLY DENICIONI AC ONI 04 04 2040 DEFODE	75.00	OM dated 28.12013
5.	FAMILY PENSION AS ON 01.01.2016 BEFORE REVISION	7560	do
6.	FAMILY PENSION AT ENHANCED RATE AS ON	NA	NA at present
0.	01.01.2016 BEFORE REVISION (IF	TVA	TVA de present
	APPLICABLE)		
7.	REVISED PENSION BY MULTIPLYIN PRE-	32382	12600*2.57=32,382/-
	REVISED PENSION BY 2.57		
8.	REVISED FAMILY PENSION BY MULTIPLYIN	19430	7560*2.57=19,430/-
	PRE-REVISED FAMILY PENSION BY 2.57		
9.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present
	RATE BY MULTIPLYIN PRE-REVISED FAMILY		
	PENSION BY 2.57		
10.	PAY FIXED ON NOTIONAL BASIS ON 1.1.1996	11300	Table No. S-19 of RPR -1997
		(10000-15200)	
11.	PAY FIXED ON NOTIONAL BASIS ON	27620	Table No. S-19 of RPR -2008
	01.01.2006	(PB-3, GP 6600)	(Grade Pay is included)
12.	PAY FIXED ON NOTIONAL BASIS ON	71800(Level-11)	As per Pay Matrix of RPR 2016
40	01.01.2016	Sl. No. 3	50% - £ 74.000 25.000 /
13.	REVISED PENSION W.E.F. 01.01.2016 AS PER	35900	50% of 71800= 35,900/-
1 /	NOTIONAL PAY FIXATION FORMULATION	21540	20% of 71900-21 E40/
14.	REVISED FAMILY PENSION W.E.F 01.01.2016	21540	30% of 71800=21,540/-
	AS PER NOTIONAL PAY FIXATION FORMULATION		
15.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present
15.	RATE W.E.F 01.01.2016 AS PER NOTIONAL	IVA	τον αι ριοσοπί
	PAY FIXATION FORMULATION		
16.	REVISED PENSION PAYABLE(HIGHER OF S.	35900	As on 01.01.2016
	NO. 07 AND 13)		
17.	REVISED FAMILY PENSION PAYABLE(HIGHER	21540	As on 01.01.2016
	OF S. NO. 08 AND 14)		
18.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present.
	RATE PAYABLE(HIGHER OF S. NO. 09 AND 15)		

EXAMPLES (Reference Para 15 to PCDA(P) Circular No.164

dated29/05/2017)

SI. No.	DESCRIPTION	CASE-3	REMARKS
1.	DATE OF RETIREMENT	30.06.1999	
2.	Scale of Pay(or Pay Band & G.P.) at the time	4000-6000	
	of retirement	(5 th CPC Scale)	
	<u>OR</u>		
	Notional pay scale as on 1.1.1986 for those		
	retired before 1.1.186		
3.	Pay(or Pay Band & G.P.) at the time of	4800	
	retirement		Last Pay Drawn
	<u>OR</u>		,
	Notional pay as on 1.1.1986 for those retired		
	before 1.1.186		
4.	PENSION AS ON 1.1.2016 BEFORE REVISION	5424	Consolidated as on 01.01.2006
5.	FAMILY PENSION AS ON 01.01.2016 BEFORE	3500	Consolidated FP as on 01.01.2006
	REVISION		
6.	FAMILY PENSION AT ENHANCED RATE AS ON	NA	NA at present
	01.01.2016 BEFORE REVISION (IF		
	APPLICABLE)		
7.	REVISED PENSION BY MULTIPLYIN PRE-	13940	5424*2.57=13940/-
	REVISED PENSION BY 2.57		
8.	REVISED FAMILY PENSION BY MULTIPLYIN	9000	Minimum Family Pension as on 1.1.2016
	PRE-REVISED FAMILY PENSION BY 2.57		
9.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present
	RATE BY MULTIPLYIN PRE-REVISED FAMILY		
	PENSION BY 2.57		
10.	PAY FIXED ON NOTIONAL BASIS ON 1.1.1996	NA	NA at present
11.	PAY FIXED ON NOTIONAL BASIS ON	11330	Table S-7 of RPR 2008
	01.01.2006	(PB-1, GP 2400)	
12.	PAY FIXED ON NOTIONAL BASIS ON	29600(Level-4)	As per Pay Matrix of RPR -16
	01.01.2016	Sl. No. 6	
13.	REVISED PENSION W.E.F. 01.01.2016 AS PER	14800	50% of 29600=14,800/-
	NOTIONAL PAY FIXATION FORMULATION		
14.	REVISED FAMILY PENSION W.E.F 01.01.2016	9000	Minimum Family Pension
	AS PER NOTIONAL PAY FIXATION		
	FORMULATION		
15.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present
	RATE W.E.F 01.01.2016 AS PER NOTIONAL		
	PAY FIXATION FORMULATION		
16.	REVISED PENSION PAYABLE(HIGHER OF S.	14800	As on 01.01.2016
	NO. 07 AND 13)		
17.	REVISED FAMILY PENSION PAYABLE(HIGHER	9000	As on 01.01.2016
	OF S. NO. 08 AND 14)		
18.	REVISED FAMILY PENSION AT ENHANCED	NA	NA at present
	RATE PAYABLE(HIGHER OF S. NO. 09 AND 15)		

EXAMPLES (Reference Para 15 to PCDA(P) Circular No.164 dated29/05/2017)

Sl. No.	DESCRIPTION	CASE-3	REMARKS
1.	DATE OF RETIREMENT	31.05.2015	
2.	Scale of Pay(or Pay Band & G.P.) at the time of retirement	67000-79000 (6 th CPC Scale)	
	OR Notional pay scale as on 1.1.1986 for those retired before 1.1.186		
3.	Pay(or Pay Band & G.P.) at the time of retirement OR Notional pay as on 1.1.1986 for those retired	79000	Last Pay Drawn
4.	before 1.1.186 PENSION AS ON 1.1.2016 BEFORE REVISION	39500	50% of 79000= 39,500/-
5.	FAMILY PENSION AS ON 01.01.2016 BEFORE REVISION	23700	30% of 79000=23,700/-
6.	FAMILY PENSION AT ENHANCED RATE AS ON 01.01.2016 BEFORE REVISION (IF APPLICABLE)	39500	50% of 79000-23,700/-
7.	REVISED PENSION BY MULTIPLYIN PRE- REVISED PENSION BY 2.57	101515	39500*2.57=101515/-
8.	REVISED FAMILY PENSION BY MULTIPLYIN PRE-REVISED FAMILY PENSION BY 2.57	60909	23700*2.57=60,909/-
9.	REVISED FAMILY PENSION AT ENHANCED RATE BY MULTIPLYIN PRE-REVISED FAMILY PENSION BY 2.57	101515	39,500*2.57=101515/-
10.	PAY FIXED ON NOTIONAL BASIS ON 1.1.1996	NA	NA at present
11.	PAY FIXED ON NOTIONAL BASIS ON 01.01.2006	NA	NA at present
12.	PAY FIXED ON NOTIONAL BASIS ON 01.01.2016	205100(Level-15) Sl. No. 5	As per Pay Matrix of RPR-2016
13.	REVISED PENSION W.E.F. 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	102550	50% of 205100= 102550/-
14.	REVISED FAMILY PENSION W.E.F 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	61530	30% of 205100=61,530/-
15.	REVISED FAMILY PENSION AT ENHANCED RATE W.E.F 01.01.2016 AS PER NOTIONAL PAY FIXATION FORMULATION	102550	50% of 205100=102550/-
16.	REVISED PENSION PAYABLE(HIGHER OF S. NO. 07 AND 13)	102550	As on 01.01.2016
17.	REVISED FAMILY PENSION PAYABLE(HIGHER OF S. NO. 08 AND 14)	61530	As on 01.01.2016
18.	REVISED FAMILY PENSION AT ENHANCED RATE PAYABLE(HIGHER OF S. NO. 09 AND 15)	102550	As on 01.01.2016